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1. fnsirn~l~~~oapn%~~3~1

(Analysis of Time Series)
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",sw,Allw~ulndood~ll~~m"sna,~

(Semi moving average)

kl8Fi  -’ (k + 1) bend
2

Y] + Y2  + '.' + Yk

uaaaulJosn1¶JG 2 = Y2 + Y3 + ... + Yk*]

WA~aaJllmld  3  = Y3 + Y4 + ..' + Yk+2

6i%66U

dlKA"aU
(wtva2J)
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t 1 1 2 3 4 5 6 I

Yi YI 2 6 4 8 6 7 2

unaau6ninU!  (k = 4) 2 0 2 4 2 5 2 3

hok~6n"a~1u$i I(k =4) 5.0 6.0 6.25 5.15

5.5 6.13 6.0
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I Week
t

(1)
Number of
Complaints

Y,

1 22
2 30
3 57
4 5 1
.i 24
6 24
7 4 1
8 63
9 52

IO 25
11 24
1 2 -41
I 3 56
1-I 44
I5 2 1

(2)

5-Term
Moving Total

(3) (4)
Fluctuaung

5-Term Component
Moving Average (1) - (3)

184 36.8 20.2
186 37.2 13.8
197 39.4 -15.4
203 40.6 -16.6
204 40.8 0.2
205 41.0 22.0
205 41.0 11.0
205 41.0 - 16.0
198 39.6 -15.6
I90 38.0 3.0
IX6 37.2 IH.8
181 3 6 2 7.8
170 34.0 -13.0
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(4
Complaints Series and Systematic Component
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series
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(‘4
Fluctuating Component
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(4
Shipments

y/
5 0 0
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Trend Component
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(c)
Cyclical  Component

(4
Seasonal  Component

1968 1972 19;

O , 1, I / Ii’1  I

1968 1972 1977

ST 206 (S) 1 6 3



















b = %$  - CQ) CQ;)h 684.1150 - (351) (48.4581)/26=

Cxf - (CxJ/n 6,201 - (351)z/26

= .020465

48.4581= 7’ - b%, = - -
26

.020465  ($) = 1.58750

aaJn1aLbuabl.h  Ao
A

T; = Y, = 1.58750 + .02046j  X,

nlsHldllluaT¶h bzcwil Xt %um.rm Ldpd wabQaJuns9 1948(x = 1) &I

T; = $: = 1.58750 + .020465  (1) = 1.60797

LLWe91dlGi2Jll09~,  IWnl~ Antilog;t;

Y, = T, = antilog 1.60797 = 40.5

6h3lfWolhJ~~  (Rate of Growth)

%$g  LLWU  ~~~lnlab~fib~6%9blej90~%u'b~~  exponential

g = (antilog b) - 1

= (antilog .020465)  - 1

zz 1.0483 - 1

= .0483 = 4.83 bLkhE-46 do 1 g
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^a~M&‘b@Klfll3M7  relative cyclical residual

,

Y - Q
relative cyclical residual = -

c
x l o o ’
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Wlfld  4.9 flXTP?6lufl  quarter relatives

b-ialm 1 2 3 4

1.02 ti

c fc w
1.09

1.03
1.00 .88 1.03 kz .
1.02 *w w 1.10
iss .87 3aa.l

ermau 3.03 2.62 3.08 3.28

1.01 .87 1.03 1.09 4.00

dlraioaa%haiim 1 .Ol .87 1 .Ol 1.09 3.98

c;1ihlp 1.01 .87 1.03 1.09 4.00
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